23.75 a7 —‘ ’—0.25
—{0.89 —2.01 2.08 1.90 2.00 2.01 2.00 1.90 2.08 ' 2.01—0.89 |—
— —poo)
% [o2s l—2.00—]
2.00 O Q\ O d O O O @GDNO) g b =
1.00
i % ' [—-100
219 1
\_ 00396 \_o.396x0.697 194 Gi ]
1.?0
‘ 24.000 l—-219—] \_ 0375
4 ATK—ANGLE
#0375 SR38-—24
| —2.00—
/f y
L % —{ 1.00 |—
o000 2250 0.250 ™ 2.25
% 1.00
7 t
2850
28.00 —o0.25

—1. 50—'—1 25~|‘1 25—|~1 25—i-1 25—'-1 as—|~1 25—|-1 as—i-1 25—'-1 25—|—1 25—|-1 as—|—1 25—|-1 as—|—1 as—|-1 25—|—1 as—|-1 25—|—1 as—|—1 25—|~1 as—I——1 50—

1.54

|

0.67

N

NI

508080808060606G4 1

ATK—28U RUNG 20438
20.625
o P 21,250
b g g4 ITEM| QIY | PART NO. PART DESCRIPTION
ﬂ — — 1 | 2 | ATB.O2 VERTICAL SUPPORT BAR
L b | | | 2 | 2 | SR38—24 3/8° x 24" STAINLESS ALL THREAD ROD
ﬁ ) T ) T 3 | 3 | ATK—28U RUNG | RUNG FOR ATK—28U — 28" LONG
4 | 4 | ATK—ANGLE SMALL SUPPORT ANGLE FOR ATK
i o) ﬂ |' ‘I |' ‘| 5 | 4 | RI38 3/8" RED INSULATOR
6 | 4 | MBBB—G MOUNTING BRACKET FOR BUSS BAR W/ 7/16" HOLES
s [ | J N 7 | 4 | 38-5855B 3/8” x 5/8" STAINLESS STEEL BOLT
8 | 8 | 38-11455B 3/8" x 1—1/4 STAINLESS STEEL BOLT
HARDWARE MBBB—G RI38 9 | 24| 38-S5LW 3/8” STAINLESS STEEL LOCK WASHER
10| 20| 38-SSN 3/8” STAINLESS STEEL NUT
A P P R O \/E D THIS DOCUMENT AND THE CONTENTS ATK-28U
THEREDF IS THE PROPERTY OF 1ZZY
INDUSTRIES AND IS FURNISHED TO
[ ]AS DRAWN: YOU FOR INFORMATION ONLY. THE DRAWN BY: REVISION:
INFORMATION CONTAINED HEREIN IS NMB g 1
CONFIDENTIAL AND OF A PROPRIETARY ;
[ ] AS NOTED: NATURE AND MUST NOT BE DISCLOSED REVISION oAt gy | CHECKED BY: ;“r !IH SCALE:
TO THIRD PARTIES WITHOUT WRITTEN IBUSTRIE -
TOLERANCES UNLESS NOTED INDUSTRIES
DATE: APPROVAL OF I1ZZY INDUSTRIES. FRACTIONAL £ 1716 N . SEET
.00 + .030 18 10 15 Pembroke, NH 03275 _
.000 + 010 ' ' 925.344.5970




